

## Suzuki Type Fixed Point Theorem For Rational Contraction In Partial Metric Spaces

V.M.L.Himabindu<sup>1</sup>, K.P.R.Rao<sup>2</sup> and G.N.V.Kishore<sup>3</sup>

<sup>1&3</sup> Department of Mathematics, K L University, Vaddeswaram,  
Guntur-522 502, Andhra Pradesh, India

E-mail address: [v.m.l.himabindu@gmail.com](mailto:v.m.l.himabindu@gmail.com), [gnykishore@kluniversity.in](mailto:gnykishore@kluniversity.in),  
[kishore.apr2@gmail.com](mailto:kishore.apr2@gmail.com)

<sup>2</sup> Department of Mathematics, Acharya Nagarjuna University,  
Nagarjuna Nagar, Guntur-522 510, Andhra Pradesh, India

E-mail address: [kprrao2004@yahoo.com](mailto:kprrao2004@yahoo.com)

### Abstract

In this paper, we obtain a Suzuki type unique common fixed point theorem by using rational contraction in partial metric spaces. Also we give an example which supports our theorem.

**Key words:** Partial metric, weakly compatible maps, Suzuki type contraction

**1991 Mathematics Subject Classification.** 54H25, 47H10, 54E50.

### 1. Introduction

The notion of a partial metric space was introduced by Matthews [9] as a part of the study of denotational semantics of data flow networks. In fact, it is widely recognized that partial metric spaces play an important role in constructing models in the theory of computation and domain theory in computer science (see e.g. [5]).

Matthews [9] and Romaguera [11] and Altun et al. [2] proved some fixed point theorems in partial metric spaces for a single map.

For more works on fixed, common fixed point theorems in partial metric spaces, also we refer [1, 3, 4, 6, 7, 8, 10, 12, 13]).

The aim of this paper is to study Suzuki type unique common fixed point theorem of Jungck type maps by using rational contraction condition in partial metric spaces.

First we give the following theorem of Suzuki [13].

**Theorem 1** (See [13]): Let  $(X, d)$  be a complete metric space and let  $T$  be a mapping on  $X$ . Define a non-increasing function  $\theta$  from  $[0, 1)$  onto  $(\frac{1}{2}, 1]$  by

$$\theta(r) = \begin{cases} 1 & \text{if } 0 \leq r \leq \frac{\sqrt{5}-1}{2}, \\ \frac{r-1}{r^2} & \text{if } \frac{\sqrt{5}-1}{2} \leq r \leq \frac{1}{\sqrt{2}}, \\ \frac{1}{1+r} & \text{if } \frac{1}{\sqrt{2}} \leq r < 1. \end{cases}$$

Assume that there exists  $r \in [0, 1)$  such that  $\theta(r)d(x, Tx) \leq d(x, y)$  implies  $d(Tx, Ty) \leq d(x, y)$  for all  $x, y \in X$ .

Then there exists a unique fixed point  $z$  of  $T$ .

Moreover  $\lim_{n \rightarrow \infty} T^n x = z$  for all  $x \in X$ .

First we recall some basic definitions and lemmas which play crucial role in the theory of partial metric spaces.

**Definition 1.1.** (See [9]) A partial metric on a nonempty set  $X$  is a function  $p: X \times X \rightarrow R^+$  such that for all  $x, y, z \in X$ :

- ( $p_1$ )  $x = y \Leftrightarrow p(x, x) = p(x, y) = p(y, y)$ ,
- ( $p_2$ )  $p(x, x) \leq p(x, y), p(y, y) \leq p(x, y)$ ,
- ( $p_3$ )  $p(x, y) = p(y, x)$ ,
- ( $p_4$ )  $p(x, y) \leq p(x, z) + p(z, y) - p(z, z)$ .

The pair  $(X, P)$  is called a partial metric space (PMS).

If  $p$  is a partial metric on  $X$ , then the function  $d_p: X \times X \rightarrow R^+$  given by

$$(1.1) \quad d_p(x, y) = 2p(x, y) - p(x, x) - p(y, y),$$

is a metric on  $X$ .

**Example 1.2.** (See e.g. [1, 7, 9]) Consider  $X = [0, \infty)$  with  $p(x, y) = \max\{x, y\}$ . Then  $(X, p)$  is a partial metric space. It is clear that  $p$  is not a (usual) metric. Note that in this case

$$d_p(x, y) = |x - y|.$$

**Example 1.3.** (See [6]) Let  $X = \{[a, b] : a, b \in R, a \leq b\}$  and define

$$p([a, b], [c, d]) = \max\{b, d\} - \max\{a, c\}.$$

Then  $(X, p)$  is a partial metric space. We now state some basic topological notions (such as convergence, completeness, continuity) on partial metric spaces (see e.g. [1, 2, 7, 8, 9].)

**Definition 1.4.**

- (i) A sequence  $\{x_n\}$  in the PMS  $(X, p)$  converges to the limit  $x$  if and only if

$$p(x, x) = \lim_{n \rightarrow \infty} p(x, x_n).$$

(ii) A sequence  $\{x_n\}$  in the PMS  $(X, p)$  is called a Cauchy sequence if

$$\lim_{n, m \rightarrow \infty} p(x_n, x_m) \text{ exists and is finite.}$$

(iii) A PMS  $(X, p)$  is called complete if every Cauchy sequence  $\{x_n\}$  in  $X$  converges with respect to  $\tau_p$ , to a point  $x \in X$  such that  $p(x, x) = \lim_{n, m \rightarrow \infty} p(x_m, x_n)$ .

The following lemma is one of the basic results in PMS([1, 2, 7, 8, 9]).

**Lemma 1.5.**

(i) A sequence  $\{x_n\}$  is a Cauchy sequence in the PMS  $(X, p)$  if and only if it is a Cauchy sequence in the metric space  $(X, d_p)$ .

(ii) A PMS  $(X, p)$  is complete if and only if the metric space  $(X, d_p)$  is complete.

Moreover  $\lim_{n \rightarrow \infty} d_p(x, x_n) = 0 \Leftrightarrow p(x, x) = \lim_{n \rightarrow \infty} p(x, x_n) = \lim_{n, m \rightarrow \infty} p(x_m, x_n)$ .

Next, we give two simple lemmas which will be used in the proof of our main result. For the proofs we refer to [1].

**Lemma 1.6.** Assume  $x_n \rightarrow z$  as  $n \rightarrow \infty$  in a PMS  $(X, p)$  such that  $p(z, z) = 0$ . Then  $p(z, y) = \lim_{n \rightarrow \infty} p(x_n, y)$  for every  $y \in X$ .

**Lemma 1.7.** Let  $(X, p)$  be a PMS. Then

(A) If  $p(x, y) = 0$  then  $x = y$ ,

(B) If  $x \neq y$  then  $p(x, y) > 0$ .

**Remark 1.8.** If  $x = y$  then  $p(x, y)$  may not be 0.

**Definition 1.9.** A pair  $(T, g)$  is called weakly compatible pair if they commute at coincidence points.

Now we prove our main result.

## 2. Main Result

**Theorem 2.1.** Let  $(X, p)$  be a partial metric space and let  $T, g : X \rightarrow X$  be mappings satisfying

(2.1.1) if there exists a constant  $\theta \in [0, 1)$  such that

$\eta(\theta)p(gx, Tx) \leq p(gx, gy)$  implies that

$$p(Tx, Ty) \leq \theta \max \left\{ \frac{p(gx, Tx)p(gy, Ty)}{1 + p(gx, gy)}, p(gx, gy) \right\}, \quad \forall x, y \in X,$$

where  $\eta(\theta) : [0, 1) \rightarrow (\frac{1}{2}, 1]$  defined by  $\eta(\theta) = \frac{1}{1 + \theta}$  is a strictly decreasing function,

(2.1.2)  $T(X) \subseteq g(X)$  and either  $T(X)$  or  $g(X)$  is complete,

(2.1.3) the pair  $(T, g)$  is weakly compatible.

Then  $T$  and  $g$  have a unique common fixed point.

**Proof.** Let  $x_0 \in X$  from (2.1.2) there exists a sequence  $\{x_n\}$  in  $X$  such that

$$gx_{n+1} = Tx_n \text{ for all } n = 0, 1, 2, 3, \dots$$

Case(i): Assume that  $gx_{n+1} \neq gx_n, \forall n$ .

Since  $\eta(\theta) \leq 1$ , we have

$$\eta(\theta)p(gx_0, Tx_0) \leq p(gx_0, Tx_0) = p(gx_0, gx_1).$$

From (2.1.1), we have

$$p(Tx_0, Tx_1) \leq \theta \max \left\{ \frac{p(gx_0, Tx_0)p(gx_1, Tx_1)}{1 + p(gx_0, Tx_0)}, p(gx_0, gx_1) \right\} \\ \leq \theta p(gx_0, gx_1).$$

$$p(gx_1, gx_2) = p(Tx_0, Tx_1) \leq \theta p(gx_0, gx_1).$$

Since  $\eta(\theta)p(gx_1, Tx_1) \leq p(gx_1, Tx_1) = p(gx_1, gx_2)$ .

From(2.1.1), we have

$$p(Tx_1, Tx_2) \leq \theta \max \left\{ \frac{p(gx_1, Tx_1)p(gx_2, Tx_2)}{1 + p(gx_1, Tx_1)}, p(gx_1, gx_2) \right\} \\ \leq \theta p(gx_1, gx_2).$$

Therefore

$$p(gx_2, gx_3) = p(Tx_1, Tx_2) \leq \theta p(gx_1, gx_2) \leq \theta^2 p(gx_0, gx_1).$$

Continuing in this way, we have  $p(gx_n, gx_{n+1}) \leq \theta^n p(gx_0, gx_1)$ .

Clearly

$$(2.1) \quad p(gx_n, gx_{n+1}) \rightarrow 0 \text{ as } n \rightarrow \infty.$$

Now for  $m > n$ , consider

$$p(gx_m, gx_n) \leq p(gx_n, gx_{n+1}) + p(gx_{n+1}, gx_{n+2}) + \dots + p(gx_{m-1}, gx_m) \\ \leq (\theta^n + \theta^{n+1} + \dots + \theta^{m-1}) p(gx_0, gx_1) \\ \leq \frac{\theta^n}{1-\theta} p(gx_0, gx_1) \\ \rightarrow 0 \text{ as } n \rightarrow \infty, m \rightarrow \infty.$$

Hence  $\{x_n\}$  is a Cauchy sequence in  $g(X)$ .

Suppose  $g(X)$  is complete,  $\{x_n\}$  converges to some  $z$  in  $g(X)$ . Hence there exists  $u \in X$  such that  $z = gu$ .

That is

$$\lim_{n \rightarrow \infty} p(gx_n, z) = p(z, z).$$

From Lemma 1.5, we have

$$(2.2) \quad p(z, z) = \lim_{n \rightarrow \infty} p(gx_n, z) = \lim_{n, m \rightarrow \infty} p(gx_n, gx_m) = 0.$$

Since  $gx_{n+1} \neq gx_n$ , for all  $n$  and  $gx_n \rightarrow gu$ , it follows that  $gx_n \neq gu$ , for infinitely many  $n$ .

Claim :  $p(gu, Tx) \leq \theta p(gu, gx)$  for  $x \in X$  with  $gx \neq gu$ .

Let  $x \in X$  with  $gx \neq gu$  then by definition,  $p(gu, gx) > 0$ .

Since  $gx_n \rightarrow gu$  as  $n \rightarrow \infty$ , there exists a positive integer  $n_0$  such that

$$p(gu, gx_n) \leq \frac{1}{3} p(gu, gx) \text{ for all } n \geq n_0.$$

Now for  $n \geq n_0$ .

$$\begin{aligned} \eta(\theta) p(gx_n, Tx_n) &\leq p(gx_n, Tx_n) = p(gx_n, gx_{n+1}). \\ &\leq p(gx_n, gu) + p(gu, gx_{n+1}) \\ &\leq \frac{1}{3} p(gu, gx) + \frac{1}{3} p(gu, gx) = \frac{2}{3} p(gu, gx) \\ &\leq p(gu, gx) - \frac{1}{3} p(gu, gx) \\ &\leq p(gu, gx) - p(gu, gx_n) \\ &\leq p(gx_n, gx). \end{aligned}$$

$$\text{Then we have } p(Tx_n, Tx) \leq \theta \max \left\{ \frac{p(gx_n, Tx_n) p(gx, Tx)}{1 + p(gx, gx_n)}, p(gx, gx_n) \right\}.$$

Letting  $n \rightarrow \infty$  and using (2.2), we get

$$(2.3) \quad p(gu, Tx) \leq \theta p(gu, gx).$$

Hence the claim.

Now consider,

$$\begin{aligned} p(gx, Tx) &\leq p(gx, gu) + p(gu, Tx) \\ &\leq p(gx, gu) + \theta p(gx, gu), \text{ from (2.3)} \\ &\leq (1 + \theta) p(gx, gu) \end{aligned}$$

$$\frac{1}{1 + \theta} p(gx, Tx) \leq p(gx, gu).$$

Thus  $\eta(\theta) p(gx, Tx) \leq p(gx, gu)$ .

Hence from (2.1.1), we have

$$(2.4) \quad p(Tx, Tu) \leq \theta \max \left\{ \frac{p(gx, Tx) p(gu, Tu)}{1 + p(gx, gu)}, p(gx, gu) \right\}.$$

Now, take  $x = x_n$  in (2.4), we get

$$p(Tx_n, Tu) \leq \theta \max \left\{ \frac{p(gx_n, Tx_n)p(gu, Tu)}{1 + p(gu, gx_n)}, p(gu, gx_n) \right\}.$$

Letting  $n \rightarrow \infty$  and using (2.2), (2.1) and Lemma 1.6, we get

$$p(gu, Tu) \leq 0.$$

Therefore  $gu = Tu = z$ .

Since the pair  $(T, g)$  is weakly compatible, we have  $gz = Tz$ .

Suppose  $Tz \neq z$ .

$$\eta(\theta)p(gu, Tu) = \eta(\theta)p(z, z) = 0 \leq p(gz, gu).$$

Hence from (2.1.1), we have

$$p(Tz, Tu) \leq \theta \max \left\{ \frac{p(gz, Tz)p(z, z)}{1 + p(gz, gu)}, p(gu, gz) \right\}$$

$$p(Tz, z) \leq \theta p(Tz, z), \text{ from } (p_2)$$

which in turn yields that  $gz = Tz = z$ .

Therefore  $z$  is a common fixed point of  $T$  and  $g$ .

Let  $t$  be the another common fixed point of  $T$  and  $g$ .

$$\text{Now consider, } \eta(\theta)p(gz, Tz) = \eta(\theta)p(z, z) = 0 \leq p(gz, gt).$$

Hence from (2.1.1), we have

$$\begin{aligned} p(z, t) = p(Tz, Tt) &\leq \theta \max \left\{ \frac{p(z, z)p(t, t)}{1 + p(z, t)}, p(z, t) \right\} \\ &\leq \theta p(z, t) < p(z, t). \end{aligned}$$

Is a contradiction.

Hence  $z$  is a unique common fixed point of  $T$  and  $g$ .

Case(ii): If  $gx_{n+1} = gx_n$  for some  $n$ , then  $gx_n = Tx_n$ .

That is  $gu = Tu = z$ , where  $u = x_n$ .

Since  $(T, g)$  is weakly compatible, we have  $gz = Tz$ .

$$\eta(\theta)p(gu, Tu) = \eta(\theta)p(gu, gu) \leq p(gu, gu) \leq p(gz, gu), \text{ from } (p_2)$$

From (2.1.1), it follows that

$$\begin{aligned} p(Tz, z) = p(Tz, Tu) &\leq \theta \max \left\{ \frac{p(gz, Tz)p(z, z)}{1 + p(gz, z)}, p(gz, z) \right\} \\ &= \theta \max \left\{ \frac{p(z, Tz)p(z, Tz)}{1 + p(z, Tz)}, p(Tz, z) \right\}, \text{ from } (p_2) \\ &= \theta p(z, Tz) \end{aligned}$$

Thus  $gz = Tz = z$ .

Thus  $z$  is a common fixed point of  $g$  and  $T$ .

Let  $w$  be another common fixed point of  $g$  and  $T$ .

Since

$$\eta(\theta)p(gz, Tz) \leq p(gz, gz) \leq p(gz, gw), \text{ from } (p_2)$$

it follows from (2.1.1), that

$$\begin{aligned} p(z, w) = p(Tz, Tw) &\leq \theta \max \left\{ \frac{p(z, z)p(w, w)}{1 + p(z, w)}, p(z, w) \right\} \\ &\leq \theta \max \left\{ \frac{p(z, w)p(z, w)}{1 + p(z, w)}, p(z, w) \right\}, \text{ from } (p_2) \\ &\leq \theta p(z, w) < p(z, w). \end{aligned}$$

It is a contradiction. Hence  $z = w$ .

Thus  $z$  is a unique common fixed point of  $T$  and  $g$ .

**Example 2.2.** Let  $X = [0, 1]$  and  $p(x, y) = \max \left\{ \frac{x}{4}, y \right\}$ . Define

$$T, g : X \rightarrow X \text{ by } Tx = \frac{x^2}{8}; gx = \begin{cases} x & \text{if } x \neq 1 \\ \frac{1}{2} & \text{if } x = 1 \end{cases}$$

Then  $T(X) = \left[0, \frac{1}{8}\right]$  is complete and  $T(X) \subseteq g(X)$ .

Let  $\theta = \frac{3}{4}$ . Then  $\eta(\theta) = \frac{4}{7}$ .

Case(i): If  $x \neq 1, y \neq 1$

$$\eta(\theta)p(gx, Tx) = \frac{4}{7} \max \left\{ x, \frac{x^2}{8} \right\} \leq p(gx, gy).$$

Now,

$$\begin{aligned} p(Tx, Ty) &= \max \left\{ \frac{x^2}{8}, \frac{y^2}{8} \right\} \leq \frac{3}{4} \max \left\{ \frac{x}{4}, y \right\} = \frac{3}{4} p(gx, gy) \\ &\leq \theta \max \left\{ \frac{p(gx, Tx)p(gy, Ty)}{1 + p(gx, gy)}, p(gx, gy) \right\}. \end{aligned}$$

Case(ii): If  $x \neq 1, y = 1$ .

$$\eta(\theta)p(gx, Tx) = \frac{4}{7} \max \left\{ x, \frac{x^2}{8} \right\} \leq p(gx, gy).$$

Now,

$$\begin{aligned}
 p(Tx, Ty) &= \max\left\{\frac{x^2}{8}, \frac{1}{8}\right\} \leq \frac{3}{4} \max\left\{x, \frac{1}{2}\right\} = \frac{3}{4} p(gx, gy) \\
 &\leq \theta \max\left\{\frac{p(gx, Tx)p(gy, Ty)}{1 + p(gx, gy)}, p(gx, gy)\right\}.
 \end{aligned}$$

Case(iii): If  $x = 1, y \neq 1$ .

$$\eta(\theta)p(gx, Tx) = \frac{4}{7} \max\left\{\frac{1}{2}, \frac{1}{8}\right\} \leq p(gx, gy)$$

Now,

$$\begin{aligned}
 p(Tx, Ty) &= \max\left\{\frac{1}{8}, \frac{y^2}{8}\right\} \leq \frac{3}{4} \max\left\{y, \frac{1}{2}\right\} = \frac{3}{4} p(gx, gy) \\
 &\leq \theta \max\left\{\frac{p(gx, Tx)p(gy, Ty)}{1 + p(gx, gy)}, p(gx, gy)\right\}.
 \end{aligned}$$

Case(iv): If  $x = 1, y = 1$ .

$$\eta(\theta)p(gx, Tx) = \frac{4}{7} \max\left\{\frac{1}{2}, \frac{1}{8}\right\} \leq p(gx, gy)$$

Now ,

$$\begin{aligned}
 p(Tx, Ty) &= \max\left\{\frac{1}{8}, \frac{1}{8}\right\} \\
 &\leq \frac{3}{8} = \frac{3}{4} p(gx, gy) \\
 &\leq \theta \max\left\{\frac{p(gx, Tx)p(gy, Ty)}{1 + p(gx, gy)}, p(gx, gy)\right\}.
 \end{aligned}$$

Hence all conditions of Theorem 2.1 are satisfied and 0 is a unique common fixed point of T and g.

## References

- [1] Abdeljawad T, Karapinar E, Tas K., Existence and uniqueness of a common fixed point on partial metric spaces, *Appl. Math. Lett.* 2011, 24 (11), 1894-1899.
- [2] Altun I, Sola F, Simsek H, Generalized contractions on partial metric spaces. *Topology and its Applications* 2010, 157 (18), 2778-2785.
- [3] Altun I, Erduran A. Fixed point theorems for monotone mappings on partial metric spaces. *Fixed Point Theory and Applications* 2011, Article ID 508730, 10 pages, doi:10.1155/2011/508730.
- [4] Aydi H. Fixed point results for weakly contractive mappings in ordered partial metric spaces, *Journal of Advanced Mathematical and Studies* 2011, Volume 4, Number2, pp.01-12.



- [5] Heckmann R, Approximation of metric spaces by partial metric spaces, *Appl. Categ. Structures* 1999, No. 1-2 (7),71-83.
- [6] Ili' D, Pavlovi' V, Rako'evi' V, Some new extensions of Banach contraction principle to partial metric spaces, *Applied Mathematics Letters* 24 (2011) 1326–1330.
- [7] Karapınar E, Erhan IM, Fixed point theorems for operators on partial metric spaces, *Applied Mathematics Letters* 2011, 24 (11),1900-1904.
- [8] Karapınar E. Generalizations of Caristi Kirk's Theorem on Partial metric spaces, *Fixed Point Theory and. Appl.* 2011, 2011:4,doi:10.1186/1687-1812-2011-4.
- [9] Matthews SG. Partial metric topology, in *Proceedings of the 8th Summer Conference on General Topology and Applications* 1994. vol. 728, pp. 183-197, *Annals of the New York Academy of Sciences*, 1994.
- [10] Rao KPR, Kishore GNV. A unique common fixed point theorem for four maps under  $\psi - \phi$  contractive condition in partial metric spaces. *Bulletin of Mathematical Analysis and Applications* 2011, 3(3), 56-63.
- [11] Romaguera S. A Kirk type characterization of completeness for partial metric spaces. *Fixed Point Theory and Applications* 2010, Article ID 493298, 6pages, doi:10.1155/2010/493298.
- [12] Valero O. On Banach fixed point theorems for partial metric spaces. *Applied General Topology* 2005, 6 (2), 229-240.
- [13] T.Suzuki, A generalized Banach contraction principle which characterizes metric completeness. *Proc.Amer.Math.Soc.* 2008. vol. 136, pp. 1861-1869.

